AQA-style exam questions.
Answer the questions by typing your answers into the red boxes.

The Treaty of Versailles
1
Describe the main terms of the Treaty of Versailles, signed on 28 June 1919. 
[4]

     
2

The Germans have given in ... They writhe at the obligation imposed on them to confess their guilt ... Some of the conditions, they affirm, are designed to deprive the German people of its honour ... They thought little of the honour of the nations whose territories they defiled with their barbarous and inhuman warfare for more than three awful years. 

From The Times newspaper, 24 June 1919. 


In this article, The Times says that the Treaty of Versailles ‘deprived the German people of its honour’.  

Do you agree that the Treaty of Versailles humiliated Germany?  

Explain your answer by referring to the purpose of the source, as well as using its content and your knowledge.
[6]
     
3
The Treaty of Versailles harmed Germany:

· by taking territory from Germany;
· by reducing Germany’s military power.

Which of these, in your opinion, harmed Germany most? 
You must refer to both results when explaining your answer.
[10]

     
